
演習問題1解答例

[1]

r⃗(t) = (−4t+ 3, 2t+ 5,−5t2 + 3t+ 2),

v⃗(t) =
dr⃗(t)

dt
= (−4, 2,−10t+ 3),

a⃗(t) =
dv⃗(t)

dt
= (0, 0,−10).

[2]

v⃗(t) = (0, 5,−10t+ 2),

a⃗(t) =
dv⃗(t)

dt
= (0, 0,−10),

r⃗(t) = r⃗0 +

∫ t

0
v⃗(s)ds

=(0,−5, 0) +

∫ t

0
(0, 5,−10s+ 2)ds

=(0,−5, 0) + (0, 5t,−5t2 + 2t)

= (0, 5t− 5,−5t2 + 2t).

[3]

a⃗(t) = (0, 0,−10),

v⃗(t) = v⃗0 +

∫ t

0
a⃗(s)ds

=(5, 0, 0) +

∫ t

0
(0, 0,−10)ds

=(5, 0, 0) + (0, 0,−10t)

= (5, 0,−10t).

r⃗(t) = v⃗0 +

∫ t

0
v⃗(s)ds

=(0, 0, 100) +

∫ t

0
(5, 0,−10s)ds

=(0, 0, 100) + (5t, 0,−5t2)

= (5t, 0, 100− 5t2).


